1102 F <3 >2RAHEHRFF & ==> Rl

#1: 6 F= 44120 #2: 2 BB 52(15.75) #3: 8 YM twister(14)

2 NS: BEEZE HEHEAC) 12 1 NS: 25 &£ F5(B0) -14 VP:| 15.75 : 4.25 Total VP: 15.75 Rank:
EW: Bi=% 02Z2(BH0) 15 EW: &30& SEBUR(EAC) 1 IMP:| 31 12 2
. —
#1 a9 5SE-2 -100 Mean: 4HN5 450 7.0 1 [[|# 2 s 92 5DS7 -640 Mean: 6DS7 1390 12.0 1
v KQ986 4SE-1-50 140  5SXE-2 300 40 1 v?2 5DS7 -640 730 A 00 4
¢ T65 Dif: -50 NS:-3 A 00 4 o A76432 Dif: 0 NS:-3 3NS5 660 2.0 1
& KJ52 IMP: -2 EW:1 5SE-2 100 1.0 2 # J853 IMP: 0 EW:3 5DS7 640 3.0 6
& J754 # AKT83 4SE-1 50 3.0 4 || JT4 # 8763
w7 v J53 v KIT I v Q9854
+ AQJ984 * K72 + Q9 *
& QT & 43 & QT942 & AK76
P VAN 4,Q62 % ¢ VAN 4, AKQS
N 5~5~~ ¢AT42 N ~7~~3 »A763
S 5~5~~ 43 S ~7~~2 ¢ KJT8
E ~3~ 3~ &A9876 E1~1~~ &
~3~3~ W 1~1~~
# 3 » KJ76 2SN2 -110 Mean: 3HS3 140 10 1 ||# 4 a7 3SW4 170 Mean: 3SW4 170 8.0 2
v AJ75 1NW-1-100 110  3HN3 140 1.0 2 v T32 3NW4 630 -500 A 00 4
¢ J97 Dif: 10 NS:-0 A 00 4 ¢+ QJT86543 Dif: -460 NS:-4 5DXN-2  -500 0.0 1
& K6 IMP: 0 EW:-0 2SN2 110 0.0 1 a4 IMP: -10 EW:-8 4SW4 620 -3.0 2
& A92 a 543 1NW-1 100 0.0 4 ||a KQ8653 a 74 3NW3 600 -3.0 1
v T2 v 984 v4 + v AQ65 3NW4 -630 -4.0 1
+ AKQ4 ¢ T863 ¢ AK ¢ 92 5CXW5 2750 -6.0 1
& AT94 & 852 & Q872 & AJT93
deVAN ,QT8 P VABN 4 AJ2
N ~~331 «KQ63 N ~31~~ @ KJOB7
S ~~331 ¢52 S ~31~~ o7
E ~1~~~ &aQJ73 E 4~~42 aK65
~1~~~ W 4 ~~42
#5 » J93 4HS-2 200 Mean: 4HS5 650 10.0 1 ||# 6 a J97642 4SN-2 100 Mean: 4SN5 450 8.0 2
v 987 4HS4 -620 190  4HS4 620 100 2 v A6 4SN5 -450 130 A 00 4
¢ 32 Dif: 820 NS:10 A 00 4 ¢ QT32 Dif: 550 NS:8 3SN3 140 00 1
& AJB52 IMP: 13 EW:9 3HS3 140 20 3 a4 IMP: 11 EW:6 2SN3 140 00 1
& 6542 & KQT7 4HS-2 200 90 1||aK s T83 2SN2 110 1.0 1
v A v T32 4SXE4 590 -13.0 1 ||e J742 —_— v KQT85 4SN-1 50 50 2
* KJT64 ¢ Q95 * KJ ¢ 754 4SN-2 100 6.0 1
& T98 & K43 & QT9873 &~ AJ
POV AN A8 % ¢ VAN 4 AQS
N 1~ 4~ 2 ¢ KQJ654 N ~4~42 993
S 1 ~3~2 ¢A87 S ~4~42 ¢ A%86
E ~2~2~ &Q7 E 3 ~3~~ aK652
~2~2~ W 3~3~~
#7 s Q9 4SW5 650 Mean: 3SW4 170 9.0 1 [|# 8 & 854 4SW6 480 Mean: 4SW5 -450 4.0 4
v K9842 4SW5 650 -580 A 00 4 v 63 4SW5 450 -590 4SW6 -480 3.0 2
¢ AK Dif: 0 NS:-2 4sw4 620 1.0 1 » KQJ2 Dif: 30 NS:4 A 00 4
& J642 IMP: 0 EW:2 4SW5 650 20 6 & K532 IMP: 1 EW:-3 6SW6 980 9.0 2
& AKJT75 #» 862 » KQJT96 a A732
v QJ3 + v AT76 v QJ92 v Al
¢ QT87 ¢ J4 ¢+ A ¢ 8743
a» S & KQT7 AT & J64
FOVAN 4,43 FOVAN ,
N 1~~~~ 95 N ~~~~~ v KT875
S 1~~~ ~ ¢96532 S ~~~~~ ¢ T965
E ~~254 &A9853 E ~~~53 &Q987
~~254 W ~~~53
#9 »T82 3NW3 600 Mean: 4SW-1 100 120 1 |[|# 10 » Q2 3HS-1100 Mean: 3HS3 140 40 2
v 8432 3NW3 600 -520 A 00 4 v T765 3HS3 -140 0 4CW-1 100 30 1
¢ Q63 Dif: 0 NS:-2 3NW3 600 20 3 + KQ963 Dif: 240 NS:4 3NW-1 100 30 1
& KQT IMP: 0 EW:2 3NE3 600 20 2 a J7 IMP: 6 EW:3 A 00 4
& AKJ75 s Q9 3NE4 630 3.0 2 ||a A95 » J87 3HS-1 -100 -3.0 1
v KJ v AT76 v Ad2 + v QJ 3CE3 110 -3.0 1
¢ A74 ¢ J982 ¢ 752 ¢ T4 1NN-1 100 -3.0 1
& A74 & 932 & AQ52 & KT9864 1NN-2 -200 -5.0 1
¢V AN 4643 % ¢ VBN 4, K643
N ~~~~~ v Q95 N ~2 32~ ¢ K93
S ~~~~~ * KT5 S ~232~ ¢AJ8
E ~4~45 &J865 E 3~~~2 a3
~4~45 W 3~~~2




¥ l\ ——
2 110£E<§ 2RBERF IR = R2 2
PAN 3z 5
#1: 4 BEETE0G14 #2: 6 aEréPiﬂb(SO) #3: 7 Bg IR F(26)
2 INS: 2288 PR THE(REO) 20 6 NS: 3EE4 BIRs5(BAC) 12 10.00 : 10.00| Total VP: 25.75 Rank:
EW: ERF¥ o2 EAC) -12 EW: fI5RE) #E3R(FO) -2 IMP:| 37 37 4
_ -
# 11 4 Q52 3NS4 430 Mean: 4HXW-4 800 1.0 1 # 12 » Q54 3NE5 -460 Mean: 3NE-1 50 8.0 2
v A87 4HXW-4 800 240 3NS4 430 5.0 1 v KT6 3NE3 -400 -310 A 0.0 4
¢ J952 Dif: -370 NS:5 3NN4 430 5.0 2 ¢ T53 Dif: -60 NS:-4 3NE4 -430 3.0 2
& AJ7 IMP: -9 EW:-11 3NN3 400 4.0 1 & 7432 IMP: -2 EW:3 3NE3 -400 3.0 2
a4 # KT863 A 0.0 4 a T97 & AJ62 3NW5 -460 40 1
v %4 v KQJTS 3HW-1 50 -5.0 1 v Q84 I v A5 3NES5 -460 40 1
+ AT876 . 3NN-1 50 7.0 1 |]|e AQI76 * KJ
» K9643 » T82 5DXS-3  -500 -12.0 1 QT » KJ865
f e VAN A % ¢ VAN ,KS3
N ~3~14 ¢632 N ~~~~~ v J9732
S ~3~14 ¢Ka43 S ~~~~~ ¢ 842
E ~~~~~ & Q5 E 54~44 aA9
~~~~~ W 54~54
# 13 » KT752 3NS-1-100 Mean: 2SN3 140 7.0 1 # 14 & AKJ86 S5HXE-2 300 Mean: 5HXE-2 300 8.0 1
v A982 3NN-3 -300 -150 2HS2 110 6.0 1 v3 5HXE-1 100 -30 S5HXE-1 100 4.0 1
o KJ Dif: 200 NS:2 3NS-1 -100 2.0 1 ¢ QT8 Dif: 200 NS:8 4HE-1 50 2.0 1
& 65 IMP: 5 EW:4 A 0.0 4 & AKJ2 IMP: 5 EW:-4 A 0.0 4
s 98 [\ & QJ43 4SN-2 -200 -2.0 1 & QT54 a 93 5CS-1 -50 1.0 2
v T3 v KJ54 3NS-2 -200 -2.0 1 v K542 v AQ9876 5CXS-1 -100 20 2
+ AT987 + + Q53 aNS3 300 40 1 ||e 7632 + AK54 4HE5 450 90 1
& QJ43 & T9 3NN-3 300 40 1 ||a9 &6
POV ADN 4,A6 3NS-4 -400 -6.0 1 P OVABN 4,72
N 2~331 ¢Q76 N 4~~3~ oJT
S 2~331 ¢642 S 4~~3~ ¢J9
E ~1~~~ &AK872 E ~23~~ &QT87543
~1~~~ W ~23~~
# 15 » A987652 5DW-1 50 Mean: 5CXE-1 100 60 1 [|# 16 » AT72 5CXW-4 1100 Mean: 5CXW-4 1100 13.0 1
v J85 5CXE-1 100 -150 2SN2 110 6.0 1 v AKQ98 2HS2 110 290 4HXN4 590 7.0 1
o KJ Dif: -50 NS:5 5DW-1 50 5.0 2 ¢ 9874 Dif: 990 NS:13 4HN5 450 4.0 1
29 IMP: -2 EW:-6 A 0.0 4 » IMP: 14 EW:5 A 0.0 4
& KJ4 » 4SN-2 -200 -2.0 1 4 Q5 & KJ983 2HS3 140 40 1
v Q43 v K76 3NW3 400  -6.0 1 ||w 62 — v J75 3CW-1 100 50 1
+ A986 ¢ T432 3NW4 -430 -7.0 1 + KQ6532 * 2HS2 110 5.0 1
» K64 & AQT873 5SXN-2 500 -80 1 ||a& KT5 a A7432 3NS-1 50 -8.0 1
POV ABDN 4QT3 FOVABN 4,064 4HN-2 -100 90 1
N ~~~3~ 9AT92 N ~12~1 ¢T43
S ~~~3~ Q75 S ~12~1 ¢ AT
E 44~~2 &J52 E 1~~1~ aQJ986
33~~2 W 1~~1~
# 17 » AT432 4SXS-2 -300 Mean: 5HXW-3 500 1.0 1 # 18 s Q 4HXW-1 100 Mean: 5DXS5 750 120 2
v 84 5DS-1-50 -30 4SN4 420 100 1 v T976 5DXS5750 110 5DS5 600 100 1
¢ J2 Dif: -250 NS:-7 5CXW-1 100 4.0 1 ¢ T954 Dif: -650 NS:0 4DS4 130 1.0 1
& QJ86 IMP: -6 EW:1 A 0.0 4 & T983 IMP: -12 EW:-12 A 0.0 4
aJ # 9875 5DS-1 -50 -1.0 1 & K532 & AJ964 4HXW-1 100 0.0 1
v AKT763 v Q9 3HW4 -170 -4.0 1 v AK84 I v QJ52 5DS-1 -100 5.0 1
+3 ¢ QT7 3NN-4 -200 -5.0 1 ¢+ 6 ¢ J82 5SXES5 -650 -13.0 1
& A9543 & KT72 4SXS-2 -300 -7.0 1 & 7652 aJ 4SXE5 -690 -13.0 1
P ¢V BN 4KQ6 5CXW5 -550 -11.0 1 POV ABDN 4, T87
N ~4~3~ ¢J52 N 34~~~ 3
S ~ 4 ~ 3 ~ ¢ AK98654 S 34~~~ ¢ AKQ73
E 4~3~~ & E ~~35~ aAKQ4
4 ~3 ~~ W ~~35~
# 19 aT9 1NE3 -150 Mean: 1NE-1 100 50 1 |[|# 20 a4 5HW6 -680 Mean: 6HW-1 100 130 1
v Q653 1NE-1 100 -110 1NWA1 -90 1.0 1 v 742 6HWS6 -1430 -660 5SW-1 100 130 1
¢ AJ42 Dif: -250 NS:-1  1NE1 -90 1.0 1 ¢ QT43 Dif: 750 NS:-1 A 0.0 4
& 143 IMP: -6 EW:-5 A 0.0 4 & 19765 IMP: 13 EW:13 5HW5 -650 0.0 1
# J86 & KQ43 1NW2 -120 0.0 3 & A8762 # KT9 4SE5 -650 0.0 1
v AK7 v JT42 1NE3 -150 -1.0 1 v AQJT98 + v K65 5HW6 -680 1.0 1
¢ T9763 * K 2CXN-2 -300 -5.0 1 2 + J9 4HW6 -680 1.0 1
& KQ & J876 &8 & AKQ43 6HW6 -1430 -13.0 2
f ¢ VAN 4A752 % ¢ VAN 4 Q53
N ~1~~~ 998 N ~~~~~ 3
S ~1~~~ Q85 S ~~~~~ + AK8765
E ~~111 &A92 E ~~541 alJ
~~211 W ~~541




¥ l\ ——
3 110 #5 3 >2RpHEEF IR E ==> R3 3
AYA
#1: 2 BEZR@3.26) #2: 4 G (41 01) #3: 3 A& (40.39)
2 NS: 2268 HRTHEEE0) 9 7 NS: 2¥E# FFmE(BiC) -21 P:|17.51 : 2.49 Total VP: 43.26 Rank:
EW: BEAEE S H (FHC) 21 EW: #iE3E R5A{Z(B8O) -9 IMP:| 30 : 2 1
__ N
# 21 s Q2 3NE3 -400 Mean: 3NE3 -400 1.0 1 [[# 22 & QJ7542 4SN5 450 Mean: 4SS5 450 1.0 3
v QT763 4SE5 -450 -420 A 00 4 v Q95 4SS4 420 430  4SN5 450 1.0 1
¢ K95 Dif: 50 NsS:1 4SE4 420 0.0 4 * AJ Dif: 30 Ns:1 A 00 4
& 872 IMP: 2 EW:1 4SE5 450 1.0 3 » 94 IMP: 1 EW:0 4SS4 420 0.0 2
» J95 # A8763 » T63 #» K9 3NS4 430 00 1
v 842 v AK v AT6 — v J874 3NS3 400 -1.0 1
+ AT64 | ¢ Q7 + 9854 * 763
AB5 & KQT9 & Q75 & AJT6
B¢V AN ,KT4 FeVAN L, A8
N ~~~~~ v J95 N ~~~42 ¢K32
S ~~~~~ ¢ J832 S ~~~42 ¢KQT2
E 4~~43 &J43 E ~~~~~ » K832
4 ~~53 W ~~~~~
# 23 » KJT4 4SE4 -620 Mean: 6SW-3 300 120 1 ||# 24 a AJ7532 5SN5 450 Mean: 4HN6 480 3.0 1
v J632 5SW5 -650 -330  5SW-1 100 100 1 v4 5SN-1-50 370 5SN5 450 2.0 1
¢ J95 Dif: 30 NS:-7 5SE-1 100 100 1 ¢ Q97 Dif: 500 NS:2 4SN5 450 2.0 1
273 IMP: 1 EW:8 A 00 4 » AK3 IMP: 11 EW:9 4HS4 420 2.0 4
a A9 # Q87532 4SE4 620 7.0 3 ||e Q4 # 986 A 00 4
v Q5 + v K874 58W5 650 8.0 1 ||e J5 v Q8 5SN-1 50 9.0 1
+ AKQ76 * 4NW5 -660 8.0 1 ¢ AK8642 ¢ J5
& KQ9%4 S & AT2 & Q92 & J87654
FeVAN 4,6 FOVAN A KT
N ~~~~~ v AT9 N ~~ 455 ¢ AKT97632
S ~~~~~ o+ T8432 S ~~455 ¢T3
E 5~~44 &J865 E ~~~~~ aT
5~~44 W ~~~~-~
# 25  J52 3NW5 -660 Mean: 4SE4 -620 1.0 1 [|# 26 » J83 4SS4 620 Mean: 5SS6 680 70 1
¢ JT753 4SE6 -680 -660 3NE4 630 1.0 1 v KQT942 4SS6 680 390  4SS6 680 7.0 1
* K2 Dif: 20 Ns:0 A 00 4 ¢ 84 Dif: -60 NS:6 4SS5 650 6.0 1
& K92 IMP: 1 EW:1 4SE5 650 0.0 1 » 53 IMP: -2 EW:-7 4SS4 620 6.0 2
& AK9 » QT873 3NW5 660 00 2 |(|a7 & T65 A 00 4
v Q84 v AK2 4SE6 680 1.0 2 ||e AJ + v 87653 2853 140 60 1
¢ A5 ¢ 983 4SW7 710 20 1 ||e QJ52 * K3 45S-1 100 100 1
& AQ865 & J4 & Q98762 & AKT 4SN-1 -100 -10.0 1
FOVAN 4,064 % ¢ VAN 4, AKQ942
N ~~~~~ v 96 N ~1~3~ e
S ~~~~~ 0 QJT764 S ~1~3~ ¢ AT976
E 5~~55 &T73 E 4~~~~ ald
5~~55 W 3 ~~~~
# 27 # K975 1NS1 90 Mean: 2NN2 120 20 1 |[|# 28 & AT82 1NE2 -120 Mean: 3SN-1 100 1.0 1
¢T3 PO 50 1NS1 90 10 3 v J93 1NE2 -120 -120  1NE1 9 1.0 2
+ K632 Dif: 90 NsS:1  1NN1 90 10 1 J7 Dif: 0 NS:0 A 00 4
& KIT IMP:3 EW:2 A 00 4 » 9874 IMP: 0 EW:0 3DW4 130 0.0 1
& AQ3 » T64 P 0 20 2|(|a76 » Q95 3DW3 110 0.0 1
v A87 v KQ542 2SN-1 50 3.0 1 [|e KT74 I v 65 1NE2 4120 0.0 2
¢ J875 ¢ Q9 + AQ83 ¢ KT62 2SN-2 -200 2.0 1
& 654 & 872 & K53 & AT62
B¢ VAN 482 e VAN 4 KIH3
N 21~21 «J9% N ~~~ 2~ ¢ AQ82
S 21~21 ¢AT4 S ~~~2~ 494
E ~~~~~ & AQ93 E 23~~2 aQJ
~~~~~ W 23 ~~2
# 29 a3 6DN6 1370 Mean: 6DN7 1390 20 2 ||# 30 a T653 3NW7 -520 Mean: 6SE-1 50 120 1
v KQ 6DN6 1370 1340 6DN6 1370 10 5 v 543 6NE7 -1020 -670 4SW6 480 5.0 1
o AJ7542 Dif: 0 NS:1 A 00 4 * QJ9 Dif: 500 NS:4 4SE6 480 5.0 1
& JT54 IMP: 0 EW:-1 6HXE-4 1100 -6.0 1 » J85 IMP: 11 EW:8 3NW7 520 4.0 1
» JT872 N #» A6 A » KQJ8742 A 00 4
v T542 v AJ98763 v KQJT8 v A9 6SE6 -980 -7.0 2
¢ Q + ¢ 93 + A864 *3 6SE7 1010 -8.0 1
& 963 & 87 & QT3 & K97 6NE7 -1020 -8.0 1
% ¢ VAN 4, KQI54 FOVAN o9
N 66~~5w N ~~~~~ v 762
S 66 ~~5 ¢KT86 S ~~~~~ ¢ KT752
E ~~2~~ &AKQ2 E 4~466 aA642
~~2~~ W 4~466




Ll > >3z s\ 4 N
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#1: 2 BB ZFR(59.65) #2: 3 Bf & (54.93) #3: 9 LLI7EHE(50.46)
2 INS: BES 2 ¥ HBHO) 13 4 NS: R{_5 #II#¥(BiC) -11 VP:| 16.39 : 3.61 Total VP: 59.65 Rank:
EW: Bi=% &2 (FC) 11 EW: {R 41 B=RAB(FI0) -1 IMP:| 38 16 1
I .
#1 1972 3NE-150 Mean: 3NW-1 50 20 1 ([[# 2 s J3 2NW3 -150 Mean: 2NW3 150 6.0 1
v 763 3NW-150 -30  3NE-1 50 20 3 v K732 3NW3 -400 -380 A 00 4
o AT6 Dif: 0 NS:2 A 00 4 ¢ J62 Dif: 250 NS:6 3NW3 -400 1.0 4
& A95 IMP: 0 EW:-2 2NE3 150 3.0 1 & Q764 IMP: 6 EW:1 3NW4 430 20 2
» Q53 s KJ8 2NE2 120 3.0 1 ||eQ & AK754 3NE4 430 20 1
v 52 v AKQ9 1NE2 120 3.0 2 |[|e QJT8 I v 96
¢ QJ82 + K954 ¢ AK3 ¢ Q975
& K743 & 62 & KJ852 & T9
% ¢ VAN ,AGS o VAN 4 T9862
N ~~~~~ v JT84 N ~~~~~ v A54
S ~~~~~ * 73 S ~~~~~ * T84
E ~3~~2 &QJT8 E 33~~3 aA3
~3~~2 W 33~~3
# 3 # K853 3NE-1 100 Mean: 3NE-2 200 100 1 ||# 4 a74 4HXN-1 -200 Mean: 3SE-3 300 9.0 1
v AJT65 3NW3 -600 -240 3NE-1 100 80 2 v KQT98432 4HN-1 100 -110  3SXE-1 200 70 1
¢ 542 Dif: 700 NS:8 3CW-1 100 8.0 1 ¢ J64 Dif: -100 Ns:-3 A 00 4
&6 IMP: 12 EW:8 A 00 4 » IMP: -3 EW:0 4HN-1 -100 0.0 4
& AQJI6 aT 3NW3 600 8.0 1 ||aJT6 & Q9832 4HXN-1 200 -3.0 1
v K8 v Q732 3NE3 600 8.0 2 |[|e75 + v AJ 4HXN-3  -800 -120 1
¢ AK ¢ JT763 3NW4 630 9.0 1 ¢ K53 * A2
& A542 & QJ3 & 98543 & KJ76
B¢ VAN 4742 ¢V AN 4 AKS
N ~~~~~ v 94 N ~13~1 96
S ~~~~~ ¢ Q98 S ~13~1 ¢ QT987
E 34 ~~3 &KT987 E 2~~1~ a&AQT2
34~~3 W 2~~1~
#5 » K862 3NE-2100 Mean: 4HE-2 100 50 1 |[|# 6 » K8 6SW6 -1430 Mean: 3HE4 170 11.0 1
v 732 4SXN-1-200 -110  3NE-2 100 50 1 v 953 4HE4 -620 -710 2HE4 170 110 1
» AQ842 Dif: 300 NS:5 3HE-2 100 50 2 » KQJ763 Dif: -810 NS:-12 4HW4 620 3.0 2
a5 IMP: 7 EW:3 A 00 4 a K2 IMP: -13 EW:-3 4HE4 620 3.0 1
a Q43 aT7 2CwW4 130 1.0 1 || T952 & AQJ6 4SW6 680 1.0 1
v AK5 v QJ864 4SXN-1 200 3.0 1 ||e4 —_— v AKJT82 A 00 4
*6 ¢ KJT 4SXN-2 500 9.0 1 ||e 854 * A9 6SW6 1430 120 2
& KQT942 & J86 4DXN-2 -500 9.0 1 ||& T8764 a A
e VAN 4,AID o VAN 4743
N ~3~2~ «T9 N ~~~~~ v Q76
S ~3~2~ 49753 S ~~~~~ * T2
E 3~1~1 aA73 E ~~462 aQJ9s3
3~1~1 W ~~462
#7 a9 2SXW-3 800 Mean: 2SXW-3 800 100 1 ||# 8 & J52 2SE2 -110 Mean: 2SE-1 50 40 1
v 19876 3NS3 600 370 4HS5 650 70 1 v J643 2SE2-110 90 A 0.0 4
¢ QT85 Dif: 200 NS:10 3NS3 600 6.0 1 ¢ Q3 Dif: 0 NS:-1 2SE2 110 1.0 5
& AT9 IMP: 5 EW:6 A 00 4 & QT54 IMP: 0 EW:1 2SE3 140 20 2
» Q876 # AK42 3HS6 230 4.0 1 4 Q864 & AKT7
v 543 + v K 2HS6 230 40 1 ||vQT95 v 82
¢ 9642 ¢ K3 3HS5 200 5.0 1 * K2 + AT94
& J4 S & Q8763 2HN4 170 50 1 ||& 963 & K72
¢V ABN ,JT53 1NN2 120 60 1 *eVAN 403
N ~45~4 ¢AQ2 N 1~~~~ o AK7
S ~45~4 ¢AJ7 S 1~~~ ~ ¢ J8765
E ~~~~~ & K52 E ~~~32 aA8
~~~~~ W ~~~21
#9 a A76 3CS-1-50 Mean: 2SN2 110 50 1 |[|# 10 a75 3SW4 -170 Mean: 3NE-2 200 60 1
v J532 2SS-1-50 -70  3CS-1 -50 1.0 1 v Q52 3HXS-2-500 -50 5DE-1 100 40 1
+ Q62 Dif: 0 NS:1 2SS+ -50 10 1 ¢ 754 Dif: 330 NS:-3 4SW-1 100 40 2
& T97 IMP: 0 EW:-1 A 00 4 & KJT43 IMP: 8 EW:10 A 00 4
s KJ3 s T42 2DW3 110 1.0 1 || KQJ82 s T4 3DW4 130 20 1
v AQ7 v K986 2DW2 90 10 2 ||leT + v AJ6 3SW4 170 3.0 2
¢ AJT54 ¢ 983 1NW3 150 2.0 1 ||e AT86 * KJ93 3HXS-2 -500 -10.0 1
& J4 & Q32 1HN-3 150 20 1 ||s AQ7 & 9652
B¢ VAN 4Q985 P eVABN 4, A3
N 1~~~~ T4 N ~~~~~ v K98743
S 1~~1~ oK7 S ~~~~~ ¢ Q2
E ~23~1 &AK865 E 35~44 a8
~22~1 W 35~44
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#1: 3 BEZ(70.68) #2: 2 BB R (63. 9) #3: 9 LLIEHE(60.07)

mnwz »eed
vinn 6 2GR
(X3
tille WX
=11 4 N
1l ww P
tINNZ

tlilowwd
IR TR

I NN Z

INS: 2268 PR T-FEEHO0) -17 3 NS: B{E3E FER(BAC) 9 4.25 15.75| Total VP: 63.90 Rank:
EW: BESEE S/ HEC) -9 EW: ZZ#E5 213¥K(F0) 17 IMP:| 12 31 2
-
» KQ87 2HXW2 -470 Mean: 3HE-2 100 40 1 |[|# 12 a A 5HN5 650 Mean: 5HN6 680 20 1
v Q7 2CE-150 -40 3HW-1 50 30 1 v AQ864 4HN6 680 620  4HN6 680 2.0 2
» AQ842 Dif: -520 NS:-10 2CE-1 50 30 3 + AK9865 Dif: -30 NS:1 5HN5 650 1.0 1
& 73 IMP: 11 EW:-3 A 00 4 a6 IMP: -1 EW:-2 A 00 4
s T65 2DN-1 -50 00 1 [|a QT62 & KJ8743 5DN6 620 00 2
v AK 2DN-2 100 20 1 ||v K3 I v 975 5DN5 600 -1.0 1
¢ 975 2HXW2 470 100 1 |[|e J43 ¢ 72 4SXE-3 500 3.0 1
» AKJ84 & QJ95 a A8
» AJ32 *eVAN 4,95
v J98 N 366~6 »JT2
T S 366~6 ¢QT
& Q9652 E ~~~1~ aKT7432
W ~~~1~
743 1NN2 120 Mean: 3CE-1 100 20 1 |[|# 14 » K63 6HE-2 100 Mean: 6HE-2 100 9.0 1
v A87 1NN2 120 50 2NN2 120 2.0 1 T 4HE4 -420 -320 3HE3 140 50 1
» AQ76 Dif: 0 NS:2 2DN3 110 2.0 1 + AQJ93 Dif: 520 NS:9 A 0.0 4
& A92 IMP: 0 EW:-2 1NN2 120 20 2 » AT87 IMP: 11 EW:3 4HE4 420 30 5
N & KQJ9 2DN2 90 10 1 ||s 542 & AQJ9 4HE5 450 40 1
v J2 A 0.0 4 [|v 432 v AKQ976
+ ¢ J3 3DN-1 -100 40 1 []|e 52 ¢ KT
» KJ643 2cw2 90 -40 1 ||e KQ942 a5
& 1652 ¢V AN 4 T87
v KQT9 N ~2~~~ ¢J85
o K42 S ~1~~~ 48764
& 87 E ~~332 aJ63
W ~~332
» AQJ86 58S-1 -100 Mean: 5CS5 600 6.0 1 |[|# 16 » AK842 3NS-4 -200 Mean: 3DS3 110 3.0 1
v5 4SN4 620 370 4SN4 620 6.0 4 v A6 2SN2 110 20 3DN4 130 30 1
* K75 Dif: -720 NS:-10 A 00 4 ¢ 74 Dif: -310 NS:-6 2SN2 10 3.0 2
& AJ94 IMP: -12 EW:-6 2DN3 110 60 1 » AJG2 IMP: -7 EW:-3 2DS4 130 30 1
a KT74 58S-1 -100 -10.0 1 |[|& QJ96 s 73 A 00 4
v JT96 3NS-1 -100 100 1 || T872 — v KQ54 3NN-1 50 20 1
+ A8 ¢ T2 ¢ A98 3SN-3 150 5.0 1
a 765 & Q87 a KT54 3NS-4 200 -60 1
# 953 S OVABN oT5
v AK2 N ~4~11 ¢J93
¢+ Q94 S ~4~1~ ¢ KQJE53
& KQT8 E ~~~~~ a 93
W ~~~~~
4 KT6 4HN5 450 Mean: 6HN6 980 100 1 ||# 18 a5 3CN-1-100 Mean: 3SW-2 100 40 1
v K53 4HN5 450 530 A 00 4 v 982 3CS-1-100 -50  3CN3 110 40 1
o A73 Dif: 0 NS:-2 4HS6 480 2.0 3 * AQ92 Dif: 0 NS:-2 2Sw-1 50 3.0 1
& AKQT IMP: 0 EW:2 4HN6 480 2.0 2 » A8653 IMP: 0 EW:2 A 0.0 4
s 52 4HN5 450 20 2 ||a AJB63 a KT7 3CS-1 -100 20 1
v 97 v KQJ4 I v T75 3CN-1 100 20 1
+ KJ965 ¢ 65 ¢ 8743 3SW3 140 3.0 1
» J863 & 74 » KQT 2SW3 140 3.0 1
» AJ43 oo VAN 4 Q942 2NS-2 -200 -40 1
v JT8642 N 21~~~ «AB3
* Q4 S 21~~~ oKIT
&5 E ~~121 aJ92
W ~~121
 J75 3SW-2 200 Mean: 4SW-4 400 50 1 [|# 20 » Q643 3NW4 -630 Mean: 3NW4 630 1.0 2
vJ 2SW-2200 210 4SW-3 300 30 1 v T82 3NW5-660 -650 A 0.0 4
» AQ65 Dif: 0 NS:0 3sSw-3 300 30 1 ¢ Q3 Dif: 30 NS:1 3NW5 660 0.0 6
& AJ982 IMP:0 EW:0 A 00 4 » JT64 IMP: 1 EW:0
» QT2 3SW-2 200 00 1 ||sAJ9 s KT72
v T63 2SW-2 200 00 3 ||v AK + v 973
¢ T73 3HS-1 50 -6.0 1 |]|e KT842 + A95
» KQ75 & 982 a A75
494 *eVAN 485
» A98742 N ~~~~~ v QJ654
¢ K9 S ~~~~~ ¢ J76
& 643 E ~4~44 aKQ3
W ~4~414
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2 NS: %268 FAT-FE(ER0) 7 10 e FE!ﬁ?E?(EHC) 20 VP:| 6.28 : 13.72| Total VP: 70.18 Rank:
EW: BB 452222(EFC) -20 EW: 2355 #&itE(30) -7 IMP:| 2 : 13 3
__ _ __
# 21 4 165 3NN4 630 Mean: 3NN4 630 1.0 4 # 22 A 7643 3NWS5 -660 Mean: 5SE-1 100 120 1
v K3 3NN3 600 610 A 00 2 v 9743 3NW5 -660 -580 A 00 2
+ K875 Dif: 30 Ns:1 3NN3 600 0.0 6 ¢ 97 Dif: 0 NS:-2 3NW5 -660 20 7
& AQT3 IMP:1 EWw:0 » A86 IMP: 0 EW:2 3NE5 -660 20 1
A K72 » J843 & KQT2 » AJ8 3NE4 630 20 1
v JT7 v Q852 v KJ85 — v6
* AQ4 | + JT6 *3 » KQUT42
» 9852 » J4 * KQJ4 » T97
oV ABN ,AQ SOV ABN 45
N 44 ~~3 9A9%4 N ~~~~~ v AQT2
S 44 ~~3 4932 S ~~~~~ + A865
E ~~~~~ & K76 E 44~34 4532
~~~~~ W 44~34
# 23 » JT95 2DW3 -110 Mean: 2DW2 9 1.0 1 |[|# 24 a 742 1NN1 90 Mean: 1NN1 90 30 2
v J9 2HW2 110 -110 A 00 2 v A76 1NN190 -30  2HW-1 50 20 1
¢ K85 Dif: 0 NS:0 2HW2 -110 0.0 5 ¢ 976 Dif: 0 NS:3 P 0 1.0 3
& KT92 IMP: 0 EwW:0 2DW3 -110 0.0 1 & AKB2 IMP: 0 EW:-3 A 0.0 2
a A32 # K87 2DE3 -110 0.0 1 & K5 & Q963 1NN-1 -50 1.0 1
v AKQT5 + v 32 Wa 430 40 1 ||v 98 v QJT3 INE1 20 20 1
¢ T42 ¢ J763 1NE3 -150 -1.0 1 + AQ54 + KJ8 4HS-3 -150 3.0 1
» 83 S & AJ54 * T7543 & J8 3NXN-2  -300 7.0 1
* ¢ VAN ,Q64 S eVABN 4 AJTS
N ~~~1~ 8764 N ~~112 K542
S ~~~1~ ¢AQ9 S ~~112 ¢7T32
E ~22~2 Q76 E ~1~~~ aQ9
~22~2 W ~1~~~
# 25 a2 3NS3 400 Mean: 3NS3 400 60 3 ||# 26 & A76 4HS5 650 Mean: 4HS6 680 50 3
v KT2 3NS3 400 140 3NN3 400 6.0 1 v QT62 4HS6 680 490 4HS5 650 4.0 3
¢ AT42 Dif: 0 NS:6 5SXW-1 200 2.0 1 ¢ A9732 Dif: -30 NS:4 4HS4 620 4.0 2
& AKT82 IMP:0 EwW:-6 A 0.0 2 a A IMP: -1 EW:-5 A 0.0 2
& AQT876 s J5 4HS-1 -50 5.0 2 & KT42 a 98 6HS-1 -100 -11.0 1
v 874 v QJ9 3NS-1 -50 -5.0 1 v 38 + v J75 4SN-2 -200 -12.0 1
+ 986 * K75 3NS-2 100 60 2 ||eT6 + KQ54
a7 & J9653 & KJT532 & Q987
% ¢V BN o K3 eV AN 4o Q53
N 333~2 9A653 N ~4643 v AK9M3
S 333~2 ¢QJ3 S ~4643 ¢J8
E ~~~~~ & Q4 E 2~~~~ 464
~~~~~ W 2 ~ o~ o~ o~
# 27 » A73 3CN4 130 Mean: 3NN4 430 7.0 1 # 28 a 87 2SE5 -200 Mean: 4HW-1 50 6.0 1
v Q2 1NN3 150 150 2NN4 180 1.0 1 v Q8 2SE4 -170 -190 3SwW3 -140 2.0 1
¢ AK Dif: -20 NS:-1  1NN4 180 1.0 1 ¢ AQ4 Dif: -30 NS:0 1NE2 -120 2.0 1
&» KQT974 IMP: -1 EW:0 A 0.0 2 & KQ8752 IMP: -1 EW:-1 2SE4 -170 1.0 3
s T9 & KJ854 1NN3 150 0.0 2 & Q9532 & KJ6 2HE4 -170 1.0 1
v AJ96 v 543 3CN4 130 1.0 3 ||e KJ95 | v AT4 A 00 2
¢ J6432 ¢ QT 2NN2 120 -1.0 1 ¢ T98 + K2 2SE5 -200 0.0 1
& J6 & A82 3NN-1 -50 -5.0 1 & AJT64 1NE4 -180 0.0 1
ooV ABDN 4Q62 P OVABN 4, AT4 4SXW5 -690 -11.0 1
N 3 ~~~3 ¢KT87 N ~~~~~ v 7632
S 3~~~ 3 49875 S ~~~~~ ¢ J7653
E ~~~~~ & 53 E ~~442 a9
~~~~~ W ~~442
# 29 s 92 1SS5 200 Mean: 3SN5 200 20 1 ||# 30 » Q95 4HS-1 -50 Mean: 4HS4 420 60 1
v J8743 2SS4 170 130 2SS5 200 2.0 1 v AQ6543 3NS4 430 200 4HN4 420 6.0 1
¢ KT63 Dif: 30 NS:2 1SS5 200 2.0 1 ¢ T5 Dif: -480 NS:-6 3NS4 430 6.0 1
& A3 IMP:1 EW:1 2SS4 170 1.0 3 » Q4 IMP: -10 EwW:-6 A 0.0 2
» Q76 [\ & K5 A 0.0 2 & J83 a T762 3HN4 170 1.0 1
v K95 v QT62 2SS3 140 0.0 3 v KT8 v J2 3HN3 140 20 2
+ Q7542 + 0J N2 200 80 1||e A982 + KJ6 2HN3 140 20 3
17 & KQ9852 * K86 » J972 4HS-1 50 60 1
* ¢V AN ,AJTE43 SOV ABN 4 AKA
N ~3~43 wA N ~~3~1 97
S ~3~42 ¢A% S ~~3~2 ¢Q743
E 1~~~~ aJ64 E ~~~~~ & AT53
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_
#1 & 852 4SXS-3 -500 Mean: 6CW-2 100 9.0 1 [[# 2 » KQ53 3HS-2-200 Mean: 4SXW-2 300 11.0 1
v KJ93 3NE3 -400 -280 6CE-2 100 9.0 1 v 52 4HXS-3 -800 -240  3HS-1 100 40 1
¢ QT842 Dif: -100 NS:-6 4CE4 130 40 1 ¢ T62 Dif: 600 NS:1  3HS-2 200 1.0 5
a7 IMP: -3 EW:3 A 00 2 a 7642 IMP: 12 EW:11 A 00 2
s AT s 94 3NW3 400 3.0 4 ||a 84 #» AJ9762 4HS-3 300 20 1
v A75 v Q84 3NE3 400 3.0 2 [|e AQJ | w7 3HXS-2  -500 -6.0 1
* J96 ¢ AK3 4SXS-3  -500 -6.0 1 [|e J94 ¢ Q853 4HXS-3  -800 -11.0 1
& KQ854 & AJT96 & KQJT8 & 53
%o VAN 4, KQJ763 B OVAN AT
N ~~~~~ v T62 N ~~ 1~ ~ o KT98643
S ~~~~~ ¢ 75 S ~~1~~ ¢ AK7
E 4~~~3 832 E 33~33 aA9
4 ~~~3 W 33~33
# 3 aJT2 2SXE2 -670 Mean: 2SE-1 100 50 1 |[|# 4 » 65 4SE5 -650 Mean: 5SE-1 100 110 1
v KT43 2SE2 -110 -90  2NW-1 100 50 1 v 976 4SE4 -620 -400  4SW-1 100 110 1
¢ T93 Dif: -560 NS:-11 1DW-1 100 50 1 *T7 Dif: -30 NS:-6 4SE-1 100 110 1
& 543 IMP: -11 EW:1  1DW1 70 10 1 & AQT653 IMP: -1 EW:6 A 00 2
s Q5 # A9864 A 00 2 ||aAJT2 # K983 5DW5 600 -5.0 1
v AJ75 v Q62 3Cs-2 100 00 1 ||eK + v J53 4SE5 650 -6.0 2
+ AJ854 ¢ 62 2DW2 90 00 1 |]|eKQJ5 ¢ A9432 4SE4 620 -60 4
AT & 876 1DW2 -90 00 1 ||& KJ97 a8
F VAN K73 2SE2 410 1.0 1 FOVAN A Q74
N 1~~~~ 998 2sw3 140 20 1IN ~~~~~ v AQT842
S 1~~~~ oKQ7 2SXE2 670 110 1]||S ~~~~~ ¢ 86
E ~2221 &KQJ92 E ~5~5~ a42
~2221 W ~5~5~
#5 » AK 1NN-1 -100 Mean: 2DN2 20 30 1(|#6 » Q542 7HW7 -2210 Mean: 6HW7 1460 7.0 4
¢T3 2SW2-110 -10  1NN1 20 30 2 v T76 6NE7 -1470 -1730 6NE7 1470 6.0 2
+ KQ8753 Dif: 10 NS:-3  2SW-1 50 20 2 ¢ JT64 Dif: -740 NS:-10 A 00 2
& QT2 IMP: 0 EW:3 A 00 2 a T4 IMP: -12 EW:-6 7SXS-8  -2000 -7.0 1
A T765 s QM 2sW2 410 3.0 2 (|a7 & AK 7CE7 2140 9.0 1
v AQ2 v 8765 2DN-1 100 -3.0 2 ||e AKJ93 —_— v Q54 THW? 2210 100 1
¢ AT6 ¢ J9 1NN-1 100 3.0 1 |]|e K8 + AQ532 THE7 2210 100 1
& 876 & AK53 & KJ853 & A76
oo VAN 49832 P o VAN 4, JT9863
N ~1~~~ 9KJ9 N ~~~~~ v 82
S ~1~~~ 442 S ~~~~~ * 97
E 2~121 &J9 E 767 ~7 &Q92
2~121 W 767~7
#7 a T643 3NW5 -660 Mean: 4HW4 620 1.0 1||# 8 a 975 2DE3 -110 Mean: 3NE-2 100 40 1
v Q98 3NW4 -630 -640 3NW3 600 1.0 1 v K976 3NE-2100 -40  1NW-2 100 40 1
¢ Q9532 Dif: -30 NS:-1 A 00 2 ¢ 97 Dif: 210 NS:-2 1NN1 0 40 1
&K IMP: -1 EW:0 3NW4 630 0.0 3 » KQJ5 IMP: -5 EW:-4 A 00 2
» AQ8 s KJ72 3NW5 660 1.0 4 ||a AT64 # 82 25S-1 50 00 1
v J2 + v AT654 W6 600 20 1 ||e AQU42 v5 THW1 80 0 1
¢ KJT ¢ A ¢ Q ¢ KT8532 3DE3 10 20 2
& JT976 S & A42 & A2 & T984 2DE3 110 2.0 1
FOeVAN 495 % ¢V AN 4 KQJ3 1HW2 10 20 1
N ~~~~ ~ v K73 N ~~1~1 ¢T83 35S-3 150 3.0 1
S ~~~~~ + 8764 S ~~1~1 ¢ A64
E 5~455 &Q853 E ~4~~~ a763
5~455 W ~4~~-~
#9 s Q4 4SW4 -620 Mean: 4SXE-1 200 80 1 ||# 10 a7 4SE-2 200 Mean: 4SE-2 200 40 3
v KQJ754 2SW4 -170 140  4SW-1 100 6.0 2 v JT53 1SE1-80 50  3SE-2 200 40 1
¢ KT4 Dif: -450 NS:-10 3HN-1 50 3.0 1 ¢ AJ532 Dif: 280 NS:4 3SE-1 100 20 1
& A9 IMP: -10 EW:1  5HXN-1  -100 1.0 1 » JT9 IMP: 7 EW:4 2HN2 10 20 1
& J8732 & KT96 A 00 2 ||a AT3 # K9652 A 00 2
v A963 v38 2sw3 4140 00 1 ||e Q7 + B v4 3HS-1 100 40 1
+6 + AJ93 3SW4 470 1.0 1 ||e Q98 + K64 1SE1 80 40 1
a J53 » KQ82 2sw4 470 1.0 1 ||& A7652 » KQ4 2SE3 140 5.0 1
* VAN A5 4SW4 620 -100 2 d VAN 4, Q4 1SE3 -140 5.0 1
N ~11~~ @T2 N ~13~~ « AK986
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#1: 3 BEAR(107.35) #2: 6 57 4545(99.72) #3: 9 LI7G{&(97.86)
2 INS: BESZE B3 H (BFO) -19 3 NS: B{E3 FER(BAC) 2 | VP:| 6.28 13.72| Total VP: 79.68 Rank:
EW: Bi=% 8222 (FHC) -2 EW: 3%k Z#EI5(F0) 1 IMP:| 28 39 7
# 1 » Q6 1NS2 120 Mean: 3DN4 130 10 1 |[# 12 Py 5CN6 620 Mean: 6CXN6 1540 13.0 1
v 864 3DN4 130 110  2DN4 130 1.0 1 v 76 6CXN-1-200 730 6DS6 1370 120 1
+ A875 Dif: -10 NS:0 A 00 2 ¢ T9876 Dif: 820 NS:-3 6CN6 1370 120 1
& AQ98 IMP: 0 EW:-1 3HW-2 100 0.0 1 & AKT863 IMP: 13 EW:14 A 00 2
# 83 # T9542 3HE-2 100 0.0 1 ||a AQT87654 #» J93 5CN6 620 3.0 2
v KQ72 v AT93 2NN2 120 0.0 1 ||v KT5 | v J432 5SXW-3 500 -6.0 4
¢ T62 * KQ 1NS2 120 00 2 ||e ¢ J543 6CXN-1 200 140 1
» KJ74 » 62 1NN2 120 00 1 ||s92 » Q5
% ¢V BN ,AKI7 1NS1 90 1.0 2 POV AN K2
N 44~~2 9J5 N 57 ~~~ « AQ98
S 44 ~~2 ¢J943 S 67 ~~6 ¢ AKQ2
E ~~~~~ & T53 E ~~~3~ alJ74
~~~~~ W ~ o~ o~ 3 ~
# 13 » AKJ983 4SN-2 -200 Mean: 4SN4 620 110 3 ||# 14 » 85 4HXN-2 -300 Mean: 2HXN4 670 120 1
v T532 4SN4 620 80  3SN4 170 3.0 1 v AQT42 4HXN-1-100 20  3HS3 140 30 1
. Dif: -820 NS:-7 A 00 2 +» KQ973 Dif: 200 NS:-8 2HN3 140 30 1
& AT2 IMP: -13 EW:-11 4SN-1 100 5.0 3 a3 IMP: -5 EW:3 3CE-1 50 1.0 1
A T76 N a 42 4SN-2 200 7.0 2 ||a QJ743 A 62 A 00 2
v AQ986 v 74 4SXN-2 500 -11.0 1 [|e J v K753 4HXN-1 100 -3.0 1
+ JTO8 + + AQ65 * T54 o A2 2882 100 30 1
&8 & KJ973 & KQT7 & AJ98 2NS-2 100 -3.0 1
FOVAN ,Q5 B¢ VAN o AKTO INE1 90 3.0 1
N 1~~32 oKJ N ~22~~ ¢986 2CE3 110 40 1
S ~ ~~ 32 ¢K7432 S ~12~~ 486 4HXN-2  -300 -8.0 1
E ~1~~~ &Q654 E 2~~1~ a06542
~1~~~ W 2~~1~
# 15 a AJ 5CW5 -400 Mean: 5CXW-1 100 70 2 ||# 16 » Q982 2SN3 140 Mean: 3DW-3 300 50 1
v K7 4CW5 -150 190  3CW-1 50 60 1 v AT 3DE-2200 110  3DE-2 200 30 1
» AQJT92 Dif: -250 NS:-5 3HW3 140 20 1 ¢ J73 Dif: -60 NS:1  3SS3 140 1.0 1
& J65 IMP: -6 EW:-1 3CW4 130 20 1 » K874 IMP: -2 EW:-3 3SN3 140 1.0 1
» Q3 # T962 4CW5 150 1.0 1 [|a AT3 s J4 2ss3 140 10 3
v Q98432 v A5 A 00 2 || Q9532 —_— v 74 2SN3 140 1.0 1
. + K64 5DXN-1 200 0.0 1 |]|e QT52 + AK96 A 00 2
» AKT84 » Q932 5CW5 400 50 1 ||a3 » QT965 2SN-1 50 40 1
% ¢ VAN 4,K8754 5CXW5 550 8.0 1 B¢ VABN 4, K765 3DW3 110 6.0 1
N ~4~1~ JT6 4HXW4 590 9.0 1[|N 1 ~~21 o KJ86
S ~4~1~ 48753 S 1~~21 ¢+84
E 4~3~1 a7 E ~1~~~ aAJ2
4 ~3~1 W ~1~~~
# 17 4 T76 4SE6 -480 Mean: 4SE6 480 6.0 6 ||# 18 » KJ754 4HN-1 -100 Mean: 4HN5 650 7.0 1
v Q874 4SE6 -480 -700 A 00 2 v AKT 4HN5 650 350  4HN4 620 7.0 3
¢ J32 Dif: 0 NS:6 6SE6 980 7.0 3 + AQ2 Dif: -750 NS:-10 3NS3 600 6.0 1
& T65 IMP: 0 EW:-6 6SXE6 41210 110 1 » K6 IMP: -13 EW:-7 3NN3 600 6.0 1
& KQ3 & AJ954 & A86 » QT9 A 00 2
v AT62 v v Q732 | vb6 1SN2 110 60 1
+ K96 ¢ T87 + K8 ¢ J9543 4HN-1 -100 -100 3
& Q82 & AKJ43 & J742 & Q983
oo VAN 4,8 B OVAN 4,32
N ~~~~~ v KJ953 N ~~532 ¢J9854
S ~~ -~~~ + AQ54 S ~~532 o776
E 6~~65 897 E ~~~~ ~ » AT5
6~~65 W ~~~~~
# 19 » KJ987 4SN4 420 Mean: 4SN5 450 50 1 |[|# 20 » AQ83 2NW4 -180 Mean: 3NW-4 400 120 1
¢ T8 3SN4 170 240  4SN4 420 50 3 v 5432 3NW3 -600 -240  3NW-1 100 80 1
o A94 Dif: 250 NS:5 A 00 2 * Q4 Dif: 420 Ns:2 3DW3 110 40 1
& K53 IMP: 6 EW:2 3HXE-1 200 1.0 1 » K92 IMP: 9 EW:8 3DW4 130 3.0 1
#» AT64 a3 3SN4 170 20 2 ||a KJT7 s 94 1NE2 120 3.0 1
v 76 v KQJ9543 3SN3 140 3.0 1 ||e K97 + v Q8 2NW4 180 2.0 1
+ K86 ¢ T73 3DS3 110 40 1 ¢ AK62 ¢ JT75 A 00 2
» J864 » Q9 4SN-1 50 7.0 1 T3 » AQJ64 3NW3 600 -8.0 1
F VAN ,Q52 B¢ VABN 4,652 1NXE3 580 -8.0 1
N 34~44 A2 N ~~~~~ v AJT6 3NW4 630 9.0 1
S 34 ~44 ¢QJ52 S ~~~~~ ¢ 983 3NE4 630 9.0 1
E ~~1~~ &AT72 E 44~~4 875
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2 NS: BEE 2= E#®H EF0) -25 4 NS: "5 #II#¥(BAC) 0 VP:| 4.03 15.97| Total VP: 83.71 Rank:
EW iie=AiA gﬂ%#(EﬁC) 0 EW: {REE1E &£ ZH(F0) 25 IMP:| 17 37 7
I
# 21 Iy 765 3NE3 -400 Mean: 3NE-2 100 3.0 1 [[|# 22 a 973 6NW6 -1440 Mean: 4SW7 710 10.0 1
v KQT763 2HN-1-100 © 3CXE-1 100 3.0 1 v 8543 6SW6 -1430 -1140 4HE6 680 10.0 1
* AJT4 Dif: -300 NS:-9 2HN2 110 3.0 2 ¢ 732 Dif: -10 NS:-7 3NW6 690 10.0 2
ry IMP: -7 EW:3 3NE-1 50 20 2 » 876 IMP: 0 EW:7 A 00 2
#» 932 & AK4 1NE-1 50 20 1 ||s AQ842 # K5 6SW6 1430 7.0 1
v 842 v AJ5 A 00 2(|e9 —_— v KQJT2 6NW6 1440 7.0 1
¢ Q83 | + K6 2HN-1 100 3.0 1 ||eT6 + AKQ9 6NE6 1440 7.0 4
» AT84 » K9763 1NE3 150 4.0 1 ||# AJTO » K4
F VAN ,QJT8 3NE3 400 9.0 1 F eV BN ,JT6
N ~21~~w N ~~~~~ v A76
S ~11~~ 49752 S ~~~~~ ¢ J854
E 3~~~2 &QJ52 E 6~~66 &Q52
3 ~~~2 W 6~~66
# 23 » AJB3 1NS190 Mean: 3NS4 630 9.0 1 [|# 24 » AT953 5SXN-1-100 Mean: 4SS4 420 50 1
v J62 2NS3 150 220  3NS3 600 9.0 2 v?2 4SN4 420 230 4SN4 420 50 3
¢ T52 Dif: -60 NS:-4 A 00 2 + Q86 Dif: -520 NS:-8 5HXW-2 300 20 3
& Q62 IMP: -2 EW:2 2NS4 180 1.0 1 » K853 IMP: -11 EW:-5 A 00 2
» QT6 & K542 2NS3 150 20 1 ||aKJ a2 4HW-1 50 50 1
v T943 + v Q7 NS2 120 30 2 ||v AK98754 vQ 5SXN-1 100 -0 1
¢ A843 ¢ J97 1NS1 90 40 1||e2 ¢ AT9754 3HW3 140 9.0 1
& 93 S & AT54 2NS-1 -100 -8.0 2 ||a& JT9 & Q7642
oo VAN 4,97 e VABN 4, Q8764
N 3 ~3~ 3 vAK85 N ~~~31 «JT63
S 3 ~3~3 ¢KQ6 S ~~~31 ¢KJ3
E ~~~~~ & KJ87 E 213~~ aA
~~~~~ W 213~~
# 25 a K 3NS-1-50 Mean: 3NS4 430 9.0 2 ||# 26 # 65 3HN-1-100 Mean: 3NS3 600 11.0 1
v 876 3DS4130 60  3DS4 130 2.0 1 v AKQ42 3HN-3-300 40  3NN3 600 11.0 1
¢ JT53 Dif: -180 NS:-3 2NS2 120 20 1 * K2 Dif: 200 NS:-4 2HN2 110 20 1
£ KQ853 IMP: -5 EwW:-2 A 00 2 & AK94 IMP: 5 EW:8 A 00 2
& QJ962 & 875 3NS-1 50 3.0 4 ||e AK97 # J832 3NN-1 100 40 1
v5 v KJT432 3NS-2 100 40 1||e8 _|_ v JT973 3HN-1 100 40 1
+ KQ94 *2 3NS-3 150 5.0 1 ||e AT986 ¢ J73 2NN-1 100 40 1
& A72 & T94 & Q63 &7 2HN-1 100 -40 3
e VAN ,AT43 * VAN 4,QT4 3HN-3 -300 -8.0 1
N 33 ~~3 ¢AQ9 N 3~1~3 65
S 43 ~~3 ¢A876 S 3~1~3 ¢Q5
E ~~~~~ & J6 E ~2~3~ aJT852
~~~~~ W ~2~3~
# 27 » K92 3NS4 430 Mean: 3NS4 430 40 1 ||# 28 » T98762 3NS-2-200 Mean: 4DXE-3 500 9.0 1
v 96 3NS3 400 300 3NS3 400 30 6 v K98 4DXE-3500 80  3HW-3 150 2.0 1
¢ Q7 Dif: 30 NS:4 A 00 2 T Dif: -700 NS:-7 2SN3 140 20 1
& KT5432 IMP: 1 EW:-3 3CN4 130 50 2 » AB2 IMP: -12 EW:-9 2SN2 110 1.0 3
# 765 s AT8 3NN-1 50 80 1 [|a A3 » KQJ4 2NS2 120 1.0 1
v T83 v KQ75 v 75432 I v JT A 00 2
+ KJT84 + 9632 * K2 + Q87654 1NW-1 50 1.0 1
& 96 & A8 & QJ43 &9 5CXS-1 -200 -7.0 1
¢ VAN 4QJ43 d VAN 45 3NS-2 200 -7.0 1
N 3~~31 wAJ42 N 4~~22 ¢ AQ6
S 3~~31 ¢A5 S 4~~22 ¢AJ93
E ~1~~~ &QJ7 E ~1~~~ a&KT765
~1~~~ W ~1~~-~
# 29 » T542 3NW5 -660 Mean: 3NW5 660 40 5 ||# 30 » AKT 6CS6 920 Mean: 6CS6 920 9.0 2
v AJ9764 3NW5 -660 -790  3NW4 630 40 1 v AK 5DS5400 500 A 00 2
02 Dif: 0 NS:4 3NE5 660 4.0 2 + AK75 Dif: 520 NS:9 3NN6 490 0.0 5
& J5 IMP: 0 EW:-4 A 00 2 & J974 IMP: 11 EW:3 3NN4 430 20 1
» A6 N s J97 6CE6 1370 -11.0 2 || QJ95432 # 87 5DS5 400 3.0 1
v KQ82 v3 v 863 v QJ92 6NN-2 -100 -12.0 1
+ QJ3 + » AK84 + Q86 o T43
& AT94 & KQ732 & Q865
%o VAN 4,KQ83 SOV ABN 46
N ~~~~~ ¢T5 N 76~~6 »T754
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